500
1000
1500

2000

ext J143547+373338 r 45s- 2025-03-11T07-39-00
UTC 2025-03-11 07:38:59.96
Mea92=412}916:447

O.= 12, R
2500 Exposure Time =45.0 s -

. ModeO ? :

min = mean - 0.5 g = 1110.232

max = mean + 1.0 0 = 1128.875
3000 Focus = 108860
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ext ]143547+373338 r 455 2025-03-11T07-39-50
2025-03-11 07:39:54-02
Mear£2=0121716-121
0=
2500 Exposure Tlme =450 s
» ModeO
min = mean - 0.5 g = 1110 107
maX = mean + 1.0 c = 1128.148
3000 FOCUS = 10886 0
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500
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1500

2000 15 ' iy :

ext J]143547+373338 r 455 2025-03-11T07-40-41
2025-03-11 07:40:48-:06
Mear112=2%%16'118
O 12
2500 Exposure Tlme =45.0s
« ModeO
min = mean - 0.5 g = 1109 989
maX = mean + 1.0 0 = 1128.376
3000 FOCUS = 10886 0
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500
1000
1500

2000

ext J1435474+373338 r 45s:2025-03-11T07-41-31
UTC 2025-03-11 07:41:42.04
M'ea92=111%)16:284

o.= 12. FEC o
2500 Exposure Time =45.0 s

. Mode0 : ’

min = mean - 0.5 ¢ =1110.228

maX = mean + 1.0 0 = 1128.394
3000 Focus = 108860

e
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2000

ext ]143547+373338 r 455+ 2025-03-11T07-42-22
2025-03-11 07:42:35-92

Mear112=3%)£15'894

Oe=c17:
2500 Exposure Tlme =45.0s

» ModeO

min = mean - 0.5 g = 1109 742

maX = mean + 1.0 0 =1128.199
3000 FOCUS = 108860
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1000
1500

2000 ; » ,

ext J143547+373338 r 455 2025-03-11T07-44-03

UTC 2025-03-11 07:44:24-32

M'ear;2=017%14'.646

O«= % et gl
2500 Exposure Time =45.0 s -

ModeO - A ’
“min = mean - 0.5 0 =1108.606

maX = mean + 1.0 0 =1126.725

3000 Focus = 108860

"L
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1000
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2000

ext 143547+37333é r 455 2025-03-11T07-44-53
UTC 2025-03-11 07:45:18:43
Mean = 1114:546

o.= 12.346 PRk
2500 Exposure Time =45.0 s -
ModeO - - s
“min = mean-0.5¢0 =1108.373
maX = mean + 1.0 0 =1126.892

3000 Focus = 108860

B
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2000 ' g 4

ext J143547+373338 r 455 2025-03-11T07-45-44

UTC 2025-03-11 07:46:12.45

M'ear22=312£14'.€)85

O.= i 2 Foi ot
2500 Exposure Time =45.0 s -

ModeO - : '
*min = mean -0.5 0 =1107.923

maX = mean + 1.0 0 =1126.409

3000 Focus = 108860
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2000 i - :

ext J143547+373338 r 455 2025-03-11T07-46-34

UTC 2025-03-11 07:47:06-42

Mear22=117]413'.837

O«= B R e
2500 Exposure Time =45.0 s :

ModeO : '

“min = mean -0.5 ¢ =1107.75

max ¥ mean + 1.0 0 =1126.01

3000 Focus = 108860
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2000 ; . >

ext J143547+373338 r 455 2025-03-11T07-47-25
UTC 2025-03-11 07:48:00-58
Mear;2=1%%13:!l06
O«= % ey X
2500 Exposure Time =45.0 s -
» ModeO - ;
“min = mean-0.5 0 =1107.34
maX = mean + 1.0 0 = 1125.539
3000 Focus = 108860
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ext 143547+373338 r 45s 2025 03- 11T07 49-06
2025-03-11 07:51:39:46
Mear;z—S%lSlz 747
Os=
2500 Exposure T|me =45.0 s
. ModeO
*min = mean -0.50 = 1106 48
maX = mean + 1.0 o = 1125.282
3000 FOCUS = 109810
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2000

ext 143547+373338 r 45s 2025 03- 11T07 49-56
2025-03-11 07:52:33:42
Mea92—4121512 236
o.=12.
2500 Exposure T|me =45.0 s
« ModeO
‘min=mean-0.50 = 1106 024
maX # mean + 1.0 0 =1124.661
3000 Focus = :!.0981.0
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2000 - C A et
ext 1435474373338 r 45s* 2025-03-11T07-50-47
2025-03-11 07:53:27-41
Meah =11111983

Exposure T|me =45.0 s
» ModeO
min = mean - 0.5 g = 1105 616
maX # mean + 1.0 o = 1124.117
3000 Focus = 10981.0
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2000

ext 143547+373338 r 45s 2025 03- 11TO7 51-37
2025-03-11 07:54:21.59
Mea?z—zélggll 192
o= 12.
2500 Exposure T|me =45.0 s
ModeO
min = mean - 0.5 g = 1105. 047
maX # mean + 1.0 0 =1123.48
3000 Focus = 10981 0
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ext 143547+373338 r 455" 2025-03-11T07-52-28
2025-03-11 07:55:15-.53
Mea?2—316%10 845
o.=12.
2500 Exposure Tlme =45.0 s
ModeO
“min = mean - 0.5 ¢ = 1104. 663
maX # mean + 1.0 o0 =1123.208
3000 Focus = 10981 0
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2000 ; % *

ext 143547+373338 r 45s*2025-03- 11TO7 53-18
UTC 2025-03-11 07:56:09.63
Mea?z—l}&‘.{lo 564
po
2500 Exposure Tlme =45.0 s
« ModeO
" min = mean - 0.5 ¢ = 1104. 492
maX # mean + 1.0 o = 1122.709
3000 Focus = 10981 0
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ext J143547+373338 r 455" 2025-03-11T07-54-59
UTC 2025-03- 11 07:57:57.89
Mea?z_zé%lo
o= 12.
2500 Exposure Tlme =45.0 s
- ModeO
“min =mean - 0.5 ¢ =1103. 994
maX # mean + 1.0 o =1122.439
3000 Focus = 10981 0
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2000 £ ;
ext 143547+373338 r 45s° 2025-03- 11T08 09-18
UTC _,2025-03-11 08:13:16.73
Mear112—2%107 121
0’ feed [ .
2500 Exposure Time =45.0 s -
ModeO
min = mean - 0.5 ¢ = 1100. 994
maX # mean + 1.0 0 =1119.374
3000 FOC‘lIJS = 10981.0
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2000 : i i
ext 143547+373338 r 45s" 2025-03- 11T08 10-08
UTC,2025-03-11 08:14:10.80
Meagz—lgl% 994

o= 12. e
2500 Exposure Time =45.0 s

ModeO

“min = mean-0.5 ¢ = 1100. 895

max & mean + 1.0 0 =1119.193

3000 FOCEJS = 10981.0
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500 4
1000
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2000 ; ; 3
ext 143547+373338 r 45s' 2025-03- 11T08 10-59
UTC ,2025-03-11 08:15:04.93
Mear112—2%106 570
o= 12.
2500 Exposure Time =45.0 s
ModeO
"min = mean - 0.5 ¢ =1100. 435
maX # mean + 1.0 o = 1118.838
3000 FOCEJS = 10981.0
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1500

2000

ext ]143547+373338 r 455 2025-03-11T08-11-49
UTC_,2025-03-11 08:15:58.94
Mear112—3%106 223
o*=12; ot
2500 Exposure Time =45.0 s
ModeO
“min = mean - 0.5 ¢ = 1100.045
max & mean + 1.0 0 =1118.577
3000 FOCEJS = 10981.0
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